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A& T2t 0t 23,665,859 13,547,162 10,118,697
= 3,671,001
= 4,245,950
= 15,748,908
THol & TH: ol 1,477,295 1,729,602 N252,307
= 7,747
= 316,950
= 1,152,598
THol & THE AtE O 868,717 411,483 457,234
= 4,403
= 30,295
i 834,019
MAMEAIE 29 240,916 245,794 N4,878
101 el 24| 1,060 1,098 A 38
04 JIZAHZ 2SS E= 1,060 1,098 A38
Otl=8IZd S==I 2 1,060
— Q2| 35,310 » 10F = 33 1,060
201 LEH2HH| 232,356 221,696 10,660
01 AtS22/Hl 30,500 35,400 A4,900
Oget=gH| 9,500
—2E MWolHEM SUA(HHEEM I L&
Shl%) 20,000 * 2005 4,000
—Mt2te| H & A8 11,000 = 2005 2,200
—He g HAARS 1,500,000 1,500
—MoHCHE Rol 300 * 3,0000H 900
—NEA BTTY L A
15,000 » 5& * 123 900
Osg+y 16,000
—AMETlFetd HE 23 HE
30,000 = 10F = 203l 6,000
—2 - =ZH(H+BEE) 10,000
=2 50,000 * 1&8 = 2JHA » 60 6,000
RS 50,000 = 198 = 2JHA » 40 4,000
o=l 3,000
—MHANGH=ER 2RSS
150,000 * 20 3,000
(OF=g24:] 2,000
—Moidl a2 2 X A 2,000,000 2,000
02 2323l 201,856 186,296 15,560
O232= ¥ MAl 195,256
—JlEtl=E8Ed &MIIes S 25,000,000 25,000
—HEtHEB8EH MIIRa S 20,000,000 20,000
—THOH S A ZAI(CCTY) SEIRS
300,000 * 372 * 128 133,200
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— 7= 200,000 200
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= 4,403
= 1,321
= 3,082
201 B3| 8,806 11,000 A2,194
= 4,403
= 1,321
= 3,082
01 AtS 22/l 8,806 11,000 A2,194
OIZMESEIT ML tMEH
8,806,000 8,806
= 4,403
= 1,321
= 3,082
WLtz ot otEEY 9 =Hl) 10,948 12,316 A1,368
[ 5,474
= 5,474
201 Let2d| 10,948 12,316 A 1,368
[ 5,474
i 5,474
01 AtE22(Hl 10,948 12,316 21,368
OMFI 7 M EA 2 FHl 10,948,000 10,948
= 5,474
= 5,474
Zxol 28 XA 4,000 5,000 21,000
= 2,000
i 2,000
201 Let2d| 4,000 5,000 A 1,000
= 2,000
i 2,000
02 =234l 4,000 5,000 A 1,000
O=2Z22a3LAA 4,000
—STolEE= 4,000,000 4,000
& 2,000
= 2,000
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207 ALl 450,000 0 450,000
01 HRgay| 450,000 0 450,000
OE+M2 S £ 450,000,000 450,000
TR 18,000 18,000 0
= 9,000
2 9,000
01 Lute | 8,000 18,000 0
= 9,000
2 9,000
01 AtRZelt] 18,000 18,000 0
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= 3,344
= 286,655
2 206,991
WHUZBAIL 2T 24 78,302 304,504 226,202
= 39, 151
2 39, 151
401 AEHILS 0 78,302 304,504 £226,202
= 39, 151
2 39, 151
01 Al&H| 78,302 304,504 226,202
OMLHHZZAIE SX 24 78,302,000 78,302
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2 39, 151
AHON 92 Y| 90,000 300,000 £210,000
= 40,500
2 49,500
401 AEHILS0] 90,000 300,000 A210,000
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AR ASAIE ESAY 150,000 175,000 A 25,000

= 97,500
iy 52,500
401 AlEHI L2 150,000 175,000 A 25,000
< 97,500
iy 52,500
01 Al&H| 150,000 174,000 A 24,000
OLRE ASAE &5 150,000,000 150,000
= 97,500
iy 52,500
=2=0] AFZFAI DA T X E AX] 2,000 0 2,000
= 1,000
iy 1,000
401 AIEHIZ 20| 2,000 0 2,000
= 1,000
iy 1,000
01 Al&H| 2,000 0 2,000
O=2=0] AFZA DA ZX[E 4X1 2,000,000 2,000
= 1,000
o 1,000
SREd & fAYH orE e 111,588 141,815 N 30,227
REHd Y AYH orE e 111,588 141,815 N 30,227
201 dBt24 | 102,220 134,727 N 32,507
01 AtS22telyl 7,300 9,600 A 2,300
Oddt2H| 4,900
—OHEAID O B4o
80,000 * 25 * 15044 2,400
— MY M HEBAIS ME 1,000 * 5000H 500
— =AY H A HE 1,000 * 5000H 500
— S L MY H HMDE DA
5,000 = 3000H 1,500
Ol =l 900
—SEd SEQA IIs7Y 150,000 * 6 900
(Or=213:] 1,500
—SCd SEEZRX A 1,500,000 1,500
02 ss249H| 94,920 125,127 N30,207
O3322 2 HA 2,920
—SRtd H4s5d BEE 500,000 = 3= 1,500
—&EE JMIANSE 10,000 * 12& 120
— Ot & A X} 1,300
HolHH 150,000 = 1CH 150
Sg2 ™ 500,000 = 1CH 500
- RS XA 600,000 = 1CH 600
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sFNLRL2 50,000 = 1CH 50
OA&EHIKI 6,000
—2ZH SA=F QXY 2,000,000 * 3 A 6,000
OXt& gth| 86,000
—OINEAN SN 8,000,000 * 1CH 8,000
—Rcd 4 >4HMANEH(EI51958)
30,000,000 30,000
— MY KEH(ZII5228) 18,000,000 18,000
—0& ¥ SNUM NEH 30,000,000 30,000
202 O4dl 2,880 0 2,880
01 ZULHOIHI 2,880 0 2,880
OREHd NEHHHR =X
200,000 * 2% = 8F * 90% 2,880
307 QI2HOIN 6,488 7,088 AB00
02 RIZtHAEE 6,488 7,088 AB00
OFXOIEEH(AIES) 2Ll K&
5,888,000 5,888
OXRNBIEEE(MES) 29 2E8E X
600,000 * 1CH 600
S AM - IF 10,394,043 4,241,403 6,152,640
[ 1,022,000
= 9,372,043
2EHE 500,000 650,000 A 150,000
DT4SH SEZA 500,000 0 500,000
401 A& HI 2SI 500,000 0 500,000
01 Al&H] 500,000 0 500,000
ORGE45H T2EEBA 500,000, 000 500,000
=S0EC2 He 708,000 1,215,000 507,000
2 50ECE,NENEE HESK 24 300,000 500,000 A200,000
401 A& HI2L S 300,000 500,000 A200,000
01 Al&H] 300,000 500,000 200,000
Oz, s0E NMENHEZ M2 EX B4
300,000,000 300,000
SOHECZ(IIHI035 M) 22 E DA 338,000 0 338,000
401 A &HIL 2048 338,000 0 338,000
01 Al&H] 330,000 0 330,000
OsHEZZ(IJHHE103) & - ZHIA
330,000,000 330,000
03 Al& L 8,000 0 8,000
OsHEZZ(JHE103) & - ZHIA
8,000,000 8,000
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el SHECE WA (S92
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SOET2(LAH025H) T2 HEIBA 70,000 0 70,000
401 Al Bl L2 Thbl 70,000 0 70,000
01 Al 70,000 0 70,000
OSOE=2(&oH102) SEITAHMAILH)
70,000,000 70,000
czag 6,986,043 1,976,403 5,009,640
= 22,000
2 6,964,043
2= H 1,642,043 1,787,403 145,360
101 o124 4,032 4,032 0
04 JIAR22 RS2 S 4,032 4,032 0
OFE DEF TA A=Y
42,000 * 4% * 3WCH * B4 4,032
201 YBr2 ) 84,800 59, 180 25,620
01 At 30,600 34,980 ~4,380
SELEI] 3,000
—THoHHI A2 (HEXR) 3,000,000 3,000
Oyt g 1,000
~HMAXWAD JIE2E 7Y 1,000,000 1,000
ogxz 0
OFHILUNS (ML 22) 26,600,000 26,600
02 B2 Y| 54,200 24,200 30,000
OIEY:] 3,000
—4+2HHIIMSEH(2L2]) 3,000,000 3,000
Oxte o e 20,000
—0SH S2EANY 2T (3E)
20,000,000 20,000
ONM&XHED HIIABE 1,200,000 1,200
OAEZHIR 30,000
—240)] 30,000,000 30,000
206 T2 bl 125,800 125,980 A 180
01 MHZH] 125,800 25,980 A180
OMZH] 125,800
~Z2E48 IHPY(SHE)
20,000 * 1,000% 20,000
—SREAY 7Y 330,000 * 607H 19,800
—stas 7,000 * 8,000% 56,000
~E2E4E RYET(LA4S) 20,000,000 20,000
~HENYS HEPY 10,000,000 10,000
307 S12t0 ® 66,211 66,211 0
VIEIENEES 66,211 66,211 0




SN HATH R D
HE: YT Ae B 2F

ol cE e (eel: &
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
OEERE M&I| 29 66,211
—S 8 1,700 * 102/Ef * 3004 * 302 15,300
—ol2it| 35,310 * 302 + 30CH 31,779
- LIERSE] 500,000 * 30CH 5,000
-28z 31,779,000 * 13/100 4,132
401 AI&HIL S| 1,060,000 1,480,000 £420,000
01 Al&H 1,050,000 1,470,000 £420,000
OBUEE Hy| 1,000,000, 000 1,000,000
OANSHHADZOMTESH (AR 2 6IH)
50,000,000 50,000
03 Al& Sl 10,000 10,000 0
OZZAY=T 10,000,000 10,000
405 XA S 301,200 52,000 249,200
01 XarUSE3 SH| 301,200 52,000 249,200
OuzIl 2 400,000 * 3CH 1,200
OM&ZH(HSHEZ 1Y) PY
300,000,000 300,000
ANgEca e 4,000 2,000 2,000
= 4,000
101 o121 4,000 2,000 2,000
= 4,000
04 JIZH22RSES 4,000 2,000 2,000
OXNgH T 22l (69 4,000,000 4,000
= 4,000
S2EXNT FHAY 36,000 37,000 A1,000
< 18,000
2 18,000
401 AI&HIL S 36,000 37,000 £1,000
= 18,000
2 18,000
01 Al&H 36,000 37,000 ~1,000
O=ZEXE FHIAY 36,000,000 36,000
= 18,000
2 18,000
HUANES L S22 HHAY 5,204,000 0 5,204,000
401 AIAEHIL S| 1,010,000 0 1,010,000
01 Al&H| 1,000,000 0 1,000,000
OFENE3 =P (OHE, HE)  1,000,000,000 1,000,000
03 Al& =l 10,000 0 10,000
OFEXNEBS =R+, HY) 10,000,000 10,000
403 RXISHSKHZ0IH 4,194,000 0 4,194,000
02 ZJI2HS 0l CHEHCH 3 AL b 4,194,000 0 4,194,000
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OB MHXSSAY B8 ~E|
2,694,000,000 2,694,000
OFBXN MHXBSAY &~
1,500,000,000 1,500,000
S~z A2 HE AL 100,000 0 100,000
401 AlEHIL 2O 100,000 0 100,000
01 A& 100,000 0 100,000
OSU~Lo2 HZEZ Ha 100,000,000 100,000
MEAT2 N 2,200,000 400,000 1,800,000
= 1,000,000
= 1,200,000
MENE2 N (S0 ~ItH) 2,200,000 0 2,200,000
= 1,000,000
= 1,200,000
401 AlEHIL 2O 2,200,000 0 2,200,000
= 1,000,000
= 1,200,000
01 A& 2,200,000 0 2,200,000
OJFE~2012 IFHT2 & 2,200,000,000 2,200,000
= 1,000,000
T 1,200,000
WETER RS ESE 8,770,764 4,088,440 4,682,324
= 3,663,254
= 2,907,000
= 2,200,510
st el 4,977,160 63,440 4,913,720
= 2,963,000
= 1,979,000
= 35,160
stERX 22l 35,160 63,440 128,280
201 Lere gl 33,000 61,040 28,040
01 At el 33,000 38,000 5,000
Oger+gt| 17,000
—SIEEYALSTY HIIE +48
7,000,000 7,000
—SIEEYAILS ZZ222 10,000,000 10,000
Ozl 3,000
—-2YALS FH 3,000,000 3,000
otz 13,000
—SHEEYALSHY Z] 13,000,000 13,000
202 01t 2,160 2,400 £240
01 201l 2,160 2,400 240
OStESY S 01|
o,ooo * 28 * 52 « 128 * 90% 2,160
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IIEE MENGIA TAAIY 922,000 922,000
= 551,000
= 371,000

401 AlHIL2OHYI 922,000 922,000
= 551,000
= 371,000

01 A&l 922,000 922,000
O BE MEHSIE X4 922,000,000 922,000
= 551,000
= 371,000

TEH MEIGIA THAIY 120,000 1120,000
= 1,272,000
= 848,000

401 AlHIL2THY] 120,000 110,000
= 1,272,000
= 848,000

01 A&l 120,000 120,000
OXZH MEHGHE X4 2, 120,000,000 120,000
= 1,272,000
= 848,000

OI5tH MENGIA XM AN 700,000 700,000
= 420,000
= 280,000

401 AlHIL 2O 700,000 700,000
= 420,000
= 280,000

01 A& 700,000 700,000
OO0I3H& MEHGHE X4 700,000,000 700,000
=2 420,000
= 280,000

MSE MEIEIE ZABA 800,000 800,000
= 480,000
= 320,000

401 AlEHIL 20 800,000 800,000
= 480,000
= 320,000

01 A& 800,000 800,000
OMRE MEISHE X4 800,000,000 800,000
=2 480,000
< 320,000

DI MEISIA EMAIY 400,000 400,000
= 240,000
= 160,000

401 AlEHIL 2] 400,000 400,000
= 240,000
= 160,000
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01 Al&HI 400,000 0 400,000
ODI2d MEfotd =4 400,000,000 400,000
= 240,000
& 160,000
NHE ot =4 , 793,604 4,025,000 A 231,396
= 700,254
L= 928,000
= , 165,350
Enel FsSlla] 705,000 640,000 65,000
207 AN HI 500,000 400,000 100,000
01 2 E S| 500,000 400,000 100,000
OASIEEHI S AHE 500,000,000 500,000
401 A &HIL 2048 205,000 240,000 235,000
01 Al&H| 205,000 240,000 235,000
OActdsAI2eltl 100,000,000 100,000
O&He(Z2H=2&) Aok&F 8l (200m)
60,000,000 60,000
OdtRel(3+==2d) ActA (150m)
45,000,000 45,000
S EotE R 2el 48,582 30,000 18,582
101 Q14| 3,252 0 3,252
04 JIZtHIZ22HsSE+ 3,252 0 3,252
OZ32E ot 7mA& 3,252
— Q24| 35,310 » 1€ » 10 » 9& 3,178
—1E - MHEE= 3,178,000 * 2.3% 74
201 LBt 3| 2,530 0 2,530
02 5234l 2,530 0 2,530
(@):K=3:] 1,530
—0lFIl H=Hl
1,700 » 102l * 10 = 9& 1,530
OAN&EZEHIS X 1,000
—0lHIl sX2cl 1,000,000 1,000
401 A &HI L2048 30,000 30,000 0
01 Al&H| 30,000 30,000 0
OZ32gstd RXzel 30,000,000 30,000
405 KH&HFE SHI 12,800 0 12,800
01 T =SS HSHI 12,800 0 12,800
Os&4 WA 2L 12,000,000 12,000
Ol 7 400,000 * 2CH 800
Ser2 MEfStd =4 250,000 420,000 A 170,000
401 A EHIL 204 250,000 420,000 A 170,000
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SA-EFH - SA(SAH) - MREAY - BES Off &F OH gl,liafg BlusZ
01 A&l 250,000 420,000 A 170,000
O=setdd 0 SA32 =4 250,000,000 250,000
Entel S S]] 1,400,508 1,134,000 266,508
= 700,254
= 700,254
401 AIEHIZ 20U 1,400,508 1,134,000 266,508
=2 700,254
= 700,254
01 Al&EHI 1,380,508 1,114,000 266,508
Oaot&E EHI 1,380,508,000 1,380,508
= 690,254
= 690,254
03 A&S0HYI 20,000 20,000 0
O2otH EEIAS 20,000,000 20,000
= 10,000
s 10,000
Aotd o=+ 152,514 0 152,514
401 AIEHIZ 208 152,514 0 152,514
01 A&l 162,514 0 152,514
Ot s 3AH2MNA-AHE| L2HAH,
U&diel 223) 152,514,000 152,514
K EotE H==AtS 719,000 1,000,000 A281,000
< 719,000
401 AIEHIZ 208 719,000 1,000,000 281,000
S 719,000
01 Al£Hl 709,000 990,000 281,000
OXZotd M==AY 709,000,000 709,000
S 709,000
03 A&Z20HYI 10,000 10,000 0
OXZaotd M==AY 10,000,000 10,000
S 10,000
ot Mg HHIALS 378,000 251,000 127,000
S 189,000
s 189,000
401 AIEHIZ 20U 378,000 251,000 127,000
S 189,000
= 189,000
01 AlEHI 378,000 251,000 127,000
OotA MY HHIAH 378,000,000 378,000
< 189,000
= 189,000
=2 EHIALE 40,000 50,000 210,000
e 20,000
= 20,000
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_ _ _ Muo
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401 Al&HI LS04I 40,000 50,000 A 10,000
< 20,000
= 20,000
01 Al&H| 40,000 50,000 A 10,000
Oti==2 ZHIA 40,000,000 40,000
& 20,000
i 20,000
Site] =HISE ZHAY 100,000 0 100,000
401 Al&HIZL=ROHYI 100,000 0 100,000
01 Al&Hl 100,000 0 100,000
O=dzZd T4 (Sekal) 100,000, 000 100,000
oI X 2,267,945 2,863,220 N595,275
Ao 2el 63,823 114,320 A50,497
SR M4 2te| 63,823 64,320 AN497
101 1A 4] 6,503 0 6,503
04 JIZHMIZ2XNHSE = 6,503 0 6,503
O=7Mat H==XA & 6,503
— QA ,310 = 69 + 30 6,356
-8 - MHEE= ,355,800 * 2.3% 147
201 Let2d| 10,000 10,000 0
01 AtE22|Hl 10,000 10,000 0
Oget=g| 10,000
—ISFML S+ 10,000,000 10,000
202 O4Hl 4,320 4,320 0
01 WY 4,320 4,320 0
O=22Ma A58 o]
20,000 » 2 = 10& * 128 * 90% 4,320
401 Al&HI YL OHYI 40,000 50,000 A 10,000
01 Al&HI 40,000 50,000 210,000
OBRMULLES(ASS) B 2Y
40,000,000 40,000
405 AHoHESHI 3,000 0 3,000
01 MR ESF=H 3,000 0 3,000
O=F|Mat2te] GPS 7 3,000,000 3,000
A2 XSGR 2,204,122 2,748,900 N544.778
A2RE2AE 72 220,000 230,000 A 10,000
401 A &EHIL 201 220,000 230,000 A 10,000
01 Al&HI 200,000 200,000 0
OL7RAE RX2a 200,000,000 200,000
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fA A4 2e|

M FOIEOl XN

CHel: ARZ X oH (&te &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
03 Al&=2CHHI 20,000 30,000 A 10,000
OAFRBAIE SX22E 20,000,000 20,000
HEAEC2 122184 200,000 300,000 100,000
401 Al&HI LY 200,000 300,000 100,000
01 Al&H] 200,000 300,000 A 100,000
OHHEEZZ 0128X B4 200,000,000 200,000
HIgIEEZ2Z A 1,081,000 1,677,000 596,000
401 Al&H| L LCHY| 1,081,000 1,677,000 596,000
01 Al&H] 1,071,000 1,677,000 606,000
OZ20iel MU Ama AXZ2AH5m)
35,000,000 35,000
Oti=42] AFOQY OFA2HM 2T B AH(1,500m)
50,000,000 50,000
Oo=2&el(MN3) AWz THIHE ZAH3m)
30,000,000 30,000
Of=22] Awa & X2 AH4m) 30,000,000 30,000
OB5HMH22| DI232E T2 I Z T AH250m)
25,000,000 25,000
OFYe| () Wakie 140,000,000 140,000
O3z BE02 T2 EEZAH200m)
30,000,000 30,000
OFOH2| T2 EZ T AH150m) 70,000,000 70,000
OStA 12| =E0I2 DA XIZAHT7n)
50,000,000 50,000
OAt&42] AZ2EH JFUAEHIZ2 A 40,000,000 40,000
O#E 12 MY=sXF o2 C2EEZAH50m)
40,000,000 40,000
os21el 82xn ¥ SRIEZAH250m)
27,000,000 27,000
OStAtel g =282 42 AH(340m) 27,000,000 27,000
QY slel Zals S22 42 AH800m)
50,000,000 50,000
OQIA3E] MIBXYZ SR AH250m)
200,000, 000 200,000
O0rg2e| 221 &2 AHSm) 40,000,000 40,000
Ol A2 JteHE OFA 2SN I 2 AH700m)
35,000,000 35,000
O3stotog| stetm Jb2EAHI 2 AH(10m)
45,000,000 45,000
OUHESR|(HEHEW) 912 S2E 2 AH250m
) 50,000,000 50,000
O0]212] W= 212 S 2FH| 2 AH(300m)
27,000,000 27,000
Otz (B2l2)0t20et2 THEZ(150m)
30,000,000 30,000
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fA A4 2e|

M FOIEOl XN

CHel: ARZ X oH (&te &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
03 Al&=2CHHI 10,000 0 10,000
OHIHEEZ2Z A 10,000,000 10,000
HH =2 FH|Z A 335,000 160,000 175,000
401 Al&HI LY 335,000 160,000 175,000
01 Al&H] 335,000 160,000 175,000
OBHAH12] Bi2=2 A HIZAHS0m) 25,000,000 25,000
OOF&22| (=) 22 AH|I2AH200m)
50,000,000 50,000
O&=e 2EOIS =2 =H|IZAH100m)
20,000,000 20,000
O A2 MDIZ2OIZ Hi2=2 HH|IZAHS0m)
20,000,000 20,000
OFT32| Q3 Hi2=2 ZHIZAF 20,000,000 20,000
OFmee| FHZ2D 212 I HH|IZAH50m)
15,000,000 15,000
OCHA32] ZOIEHOIE =2 =H|Z2AH70m)
30,000,000 30,000
O24e A24 22 HH|IZAH150m)
40,000,000 40,000
Odtel &2 HHIZAH100m) 35,000,000 35,000
Oatme| #E Hiz=2 =HIZAH150m)
40,000,000 40,000
O#2e] ZERX XYUZ HIZ HH|IZ AH200m
) 40,000,000 40,000
NI&EHIZ A 115,000 324,000 209,000
401 Al&HI L LY 115,000 324,000 A209,000
01 Al&H] 115,000 324,000 209,000
Onor&2e(Z22) N&EEH|IZAH100m)
30,000,000 30,000
OlA32 28 MEEHIZAH140m)
50,000,000 50,000
Od=x1el MO MAEHIZ2AH140m)
35,000,000 35,000
JF2EI(221, MOotE21) 2 5,000 15,000 210,000
206 24l 5,000 5,000 0
01 24l 5,000 5,000 0
OJI2EI(2D1,M0tSD1) ¢ 5,000,000 5,000
Ay X 34,600 42,900 28,300
201 LEr2YH| 12,500 13,900 A 1,400
01 AtR22t2lH] 11,000 12,700 ~1,700
oIl =] 5,000
— &G I=2H 5,000,000 5,000
O= | 4,000
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SN

AL H2el

Ha: FEOIEOl Koy
G A2 XY (etel: =3
_ _ _ Muo
SN EB -GS - MBAY - BES arey e HRE2
—dAHE Sl 4,000,000 4,000
Ogt=2H| 2,000
—HAJH2A NA 7ol 1,000,000 1,000
—d2HLY 2H A 7 1,000,000 1,000
02 =23l 1,500 1,200 300
O232= ¥ HAl 1,500
—dAHHARY MRS 1,500,000 1,500
203 HRF4Hl 17,100 24,000 26,900
03 AMF=XHS=LH| 17,100 24,000 26,900
OE2EZES XNGMEAE 15,000,000 * 90% 13,500
OA&Ldd JRF2 4,000,000 * 90% 3,600
401 Al&HI YL S OHYI 5,000 5,000 0
03 AIZ20i4 5,000 5,000 0
O&HH 24 5,000,000 5,000
A2REAE =R 213,522 0 213,522
401 Al&HIZL=ROHYI 213,522 0 213,522
01 AlZHI 208,522 0 208,522
OLAZAE =H=F3AH10HA, EEsel It
2HN &2 ) 208,522,000 208,522
03 AIZR0iHl 5,000 0 5,000
OL7A2A4E =i=S73At 5,000,000 5,000
HY2SZH (AL t2eln) 74,610 76,176 A 1,566
ol (A& MLtatelt) 4,200 4,200 0
ol 2 & 4,200 4,200 0
203 PR =& 4,200 4,200 0
04 RA2SERF=LH| 4,200 4,200 0
ORM2IYE=LH 350,000 = 12& 4,200
|22 (AL T2l D) 70,410 71,976 A 1,566
Jl=&d| 70,410 71,976 A 1,566
201 ZetEEl 46,220 43,820 2,400
01 AtR 22/l 36,420 36,520 A 100
Ogt==2H| 29,420
~=AIEX T (A,B4)
22,000 » 50&f X%+ = 53] 5,500
—JIEIAIRES & #¢ 4,000,000 4,000
-t HEX FY 1,500,000 1,500
— &= A 4,200
SAIEY 300,000 * 2CH = 63l 3,600
SAHI ==cl 300,000 * 2CH 600
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t

[

SA: ALt
REH: SHA H
(==

HH 2 QT (AL
&l D23 (A& el ) (etel: =3
_ _ _ Muo
SN EB -GS - MBAY - BES 0l &k 24 e HRE2
—HEE EU(ZZE) 12,000,000 12,000
—FAX S Xl2tel 500,000 500
~FHIILEHDE 2 AS
20,000 = 3CH » 120 720
—2F ga =& 2 1,000,000 1,000
O= 2kl 5,000
—A2IA22% E20HAI 5,000,000 5,000
OSgLT (BB 2,000
— =2 50,000 » 18 * 20 1,000
— 2 AH| 50,000 = 1 » 20 1,000
02 =234l 9,800 7,300 2,500
OZ232= ¥ HMAl 9,800
—SESLSH 8,000,000 8,000
—AIOIZ2IWIA2AIAMRL HII2S 600,000 600
—AIOI2IMAMIPE dol==R23F 1,200,000 1,200
202 O4Hl 22,810 26,496 A3,686
01 =W 22,810 26,496 A3,686
OJl=Ye 8ol
120,000 * 22 * 128 * 80/100 » 90% 22,810
405 KHoHESHI 1,380 1,660 A280
01 T =S H SHI 1,380 1,660 A 280
O2Xt 180,000 * 504 900
OBxMy 160,000 * 3K 480
WESE=E=5 283,702 250,821 32,881
LHEHH XIS (T HorA 2te| ) 283,702 250,821 32,881
LHEHHKIE 283,702 250,821 32,881
02 JISHES 283,702 250,821 32,881
01 JISHES 283,702 250,821 32,881
OMet2te|dlg &4 283,702,000 283,702
R85 297,500 297,500 0
28X= 297,500 297,500 0
RSN =S 297,500 297,500 0
311 XY SO0l XH& & 297,500 297,500 0
02 Al -2 - 2XGNLEII S S0IAtatet 297,500 297,500 0
OJNEEZAMAE 2L (F1-6,2-9)
136,500,000 136,500
OJMEAIIIXIRE E2IE (53-6) 161,000,000 161,000
Heas (ALt 100,000 0 100,000
LHEHHXI = 100,000 0 100,000
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A AL 22| 1t
HH: WHRES(ALt2el)

Sel: LHEHAHKI= (&te @
i} _ _ bolEN=

2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
LHEHH KIS 100,000 0 100,000
701 JIEISIHEE2 100,000 0 100,000
01 JIEtSIHAZ=2 100,000 0 100,000

OF W42 o+ A& EHIZAHT70m)
100,000,000 100,000
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